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Let H be the most compressive Hi

Add H to B, remove cover from E+

Select seed e from E+

Normalise B and e

hin

kin

ki1 =

Given B, E+, E− and ME+ ≠ ∅
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Return B’ Select Seed1

e = meal(md) 

2 ASLD4 M-SEARCH

h = fries(X) :- offer(X)

? meal(md)
? burger(md),fries(md)

∆ = {fries(md)}

k

fries(X)

fries(X) :-
offer(Y)

fries(X) :-
offer(X)

k = fries(X) :- offer(X)

3 BOTTOM SET

α

5

B’ = B ∪ {fries(X) :- offer(X)}

Return B’ Select Seed1

2 ASLD4 M-SEARCH

3 BOTTOM SET

5

Tx
Tx :- Ly Tx :- Az

Tx :-Lx Tx :- AxTx :-
Ly,Az

Tx :- Lx, Ax

Tx :-
Lx,Az

Tx :-
Ly,Ax

Tx :-
Ly,Ay

h1= tired(X) h2= poor(X) :- lecturer(X)

Px
Px :- Ly Px :- Az

Px :-Lx Px :- AxPx :-
Ly,Az

Px :- Lx, Ax

Px :-
Lx,Az

Px :-
Ly,Ay

Px :-
Ly,Ax

k1 k2 k1 = tired(X) :- lecturer(X), academic(X)   

α1

k2 = poor(X) :- lecturer(X), academic(X)   

α2

e = sad(a)

? sad(a)
? tired(a), poor(a)

∆ = {tired(a), poor(a)}

B’ = B  ∪ poor(X) :- lecturer(X)
tired(X) 












